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; 100kN/m#%#BZ25| 1.00| 000 ~ 1.88| 12894 |3mZEBzB| — ~ — — — | 100kN/mi% 25 | 1.00 | 11.07 ~ 1786 12894 |3m&EBZ5 -~ — — —
Zh st 1.00) 188 ~ 966| 100.00| TnLs | 000 ~ 966|266 12.95 Fhst 1.00 | 5.00 ~ 1107 100.00 | TN | 5,00 ~ 17.86 | 2.56 12.95
2 100kN/m%#BZ25| 1.00| 000 ~ 089 11327 |3mZEBzE| — ~ — — — | 100kN/mi%E 25 | 1.00 | 1417 ~ 1790 113.27 |3m&EBZ5 -~ — — —
Zhst 1.00) 089 ~ 867 100.00| ThLs |0o0 ~ 867|287 14.49 Fhs 1.00|5.00 ~ 1417 100.00 | TnLSY | 5,00 ~ 1790 | 2.87 14.49
3 100kN/mM%#8Z 5| 1.00 | 0.00 ~ 1.83 12810 |3m&x#EZH| — ~ — — — | 100kN/mi%#B25% | 1.00 | 11.24¢ ~ 1788 12810 |3m&EBZ5 - ~ — — —
ZzhnLst 1.00 | 1.83 ~ 9.61 100.00 | =N | 000 ~ 9.61| 259 1310 ZzhnLst 1.00 | 5.00 ~ 1124 100.00 | #nst | .00 ~ 17.88| 2.69 13.10
4 100kN/m#%#BZ25| 1.00| 000 ~ 1.82| 12802 |3mZEBz5| — ~ — — — | 100kN/mi%# 25 | 1.00 | 11.24¢ ~ 1786 12802 |3m&EBZ5 -~ — — —
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zh st 1.00 | 1.84 ~ 9.62 100.00 | Fhilst | 000 ~ 962|246 12.46 zhst 1.00 | 5.00 ~ 1066 100.00| TN | 5.00 ~ 17.09| 2.46 12.46
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ZhLlsh ~ ZhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
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100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
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Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
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Zh s ~ ZzhLst ~ ZhLlst ~ ZhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




